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QUIZ #13 VERSION B
"Regulation of Industries That Could Be Competitive"

INSTRUCTIONS:  This exam is closed-book, closed-notes.  Simple calculators are permitted, but graphing calculators or calculators with alphabetical keyboards are NOT permitted.  Point values for each question are noted in brackets.
I.  Multiple choice:  Circle the one best answer to each question.  [2 pts each: 36 pts total]

(1) Workers in regulated industries typically earn wages that are

a. below minimum wage.

b. lower than comparable workers in other industries.

c. higher than comparable workers in other industries.

d. identical to workers in other industries.

(2) What kind of firm is most likely to exit an industry after deregulation?

a. A low-wage firm.

b. A low-cost firm.

c. A high-cost firm.

d. Cannot be determined from information given.

(3) Economists seeking to measure the effects of regulation must always deal with the

a. lack of theories to test.

b. lack of examples of unregulated markets.

c. complete absence of relevant data.

d. inability to perform controlled experiments.

(4) Crafton's study of usury laws showed that, when binding, they caused

a. loan maturities to decrease.

b. loan maturities to increase.

c. no change in loan maturities.

d. excess supply of loanable funds.

(5) The price of a taxicab medallion equals the expected

a. annual operating cost of a taxicab (fuel, maintenance, repairs, etc.).

b. discounted future above-normal profit from operating a taxicab.

c. annual above-normal profit from operating a taxicab.

d. annual revenue (fares) from operating a taxicab.

(6) Which industry was regulated first in the United States?

a. Airlines.

b. Trucking.

c. Railroads.

d. All three industries were regulated simultaneously.

(7) After deregulation of railroads, investment in track, structures, and rolling stock

a. increased.

b. remained steady.

c. decreased slightly.

d. fell precipitously to near-zero levels.

(8) Why was trucking regulated?

a. Without regulation, trucking rates were too high, causing deadweight loss.

b. Shippers lobbied heavily for regulation of trucking.

c. Trucking is a natural monopoly.

d. Railroads were losing money.

(9) "Equalizing discrimination" means

a. setting different prices for the same good or service, based on customers' elasticity of demand.

b. adjusting prices of goods or services so that equal quantities of each are sold.

c. charging a higher price to wealthier customers.

d. setting identical prices for goods or services with different costs.

(10) Regulation limited exit in

a. railroads.

b. trucking.

c. both industries.

d. neither industry.

(11) Deregulation of interstate trucking caused the price of backhauls to

a. stay constant.

b. fluctuate randomly.

c. fall.

d. rise.

(12) Deregulation of interstate trucking caused

a. entry of new firms into the industry.

b. exit of some existing firms from the industry.

c. both of the above.

d. none of the above.

(13) Which industry became more profitable after deregulation?
a. Railroads.

b. Trucking.

c. Both industries.

d. Neither industry.

(14) From 1938 when the Civil Aeronautics Board was created to 1978 when the Airline Deregulation Act was passed, the CAB received seventy-nine applications for new trunk airlines.  How many applications were accepted?

a. zero.

b. five.

c. seven.

d. twelve.

e. twenty-one

f. seventy-nine.

(15) Airline regulation of fares and entry had the indirect effect of increasing

a. the frequency of flights.

b. the total number of passengers flying.

c. load factors.

d. the quality of food and other amenities.

(16) After airline deregulation, fares rose for
a. long-haul routes (more than 1000 miles).

b. short-haul routes (less than 500 miles).

c. all routes.

d. no routes.
(17) Airlines' shift from a point-to-point route system to a hub-and-spoke system tended to reduce

a. load factors.

b. the frequency of departures.

c. airlines' unit (per-passenger) costs.

d. total travel time from origin to destination.

e. the number of times passengers had to change planes.

(18) Everything else equal, fares today into or out of a city that happens to be an airline's major hub are usually

a. lower than fares into and out of a non-hub city.

b. equal to fares into and out of a non-hub city.

c. higher than fares into and out of a non-hub city.

II.  Problems:  Insert your answer to each question below in the box provided.  Feel free to use the margins for scratch work(only the answers in the boxes will be graded.  Work carefully(partial credit is not normally given for questions in this section.

(1) [Effect of regulation on quality: 28 pts]  The following graphs show demand and supply for low-quality and high-quality versions of the same good.  Assume average cost also equals marginal cost.
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First, consider the market without regulation.

	a. Find the quantity purchased of the low-quality good.
	million

	b. Assume the demand for the high-quality good is given by "Old demand."  Find the quantity purchased of the high-quality good.
	million


Suppose a price floor of  $6  is imposed on the low-quality good.

	c. Find the new quantity purchased of the low-quality good.
	million

	d. Compute the deadweight loss in the low-quality market from the price floor.
	$                        million


The low-quality and high-quality goods are substitutes, so demand for the high-quality good shifts right to "New demand."  Suppose the same price floor of  $6  is now imposed on the high quality good.

	e. Find the new quantity purchased of the high-quality good.
	million

	f. Compute the deadweight loss in the high-quality market from the price floor.
	$                        million


	g. Compute the total cost of regulation—that is, the deadweight loss in the low-quality market plus the deadweight loss in the high-quality market.
	$                        million


(2) [Maximum prices and exit restrictions: 20 pts]  The following graphs show the demands and average costs for good A and good B.  Assume average cost also equals marginal cost.
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Suppose a regulated firm is required to supply good A at a price of  $1.

	a. Compute the deadweight loss in the market for good A from this pricing policy.
	$                     thousand

	b. Compute the loss that the firm will experience in the market for good A from this pricing policy.
	$                     thousand


Suppose the regulated firm is permitted to recover its loss in the market for good A by raising price above average cost in the market for good B.

	c. What price would need to be set in the market for good B to permit the firm to recover its loss in the market for good A?
	$

	d. Compute the deadweight loss in the market for good B from this pricing policy.
	$                     thousand


	e. Compute the total cost of regulation with cross-subsidization—that is, the deadweight loss in the market for good A plus the deadweight loss in the market for good B.
	$                     thousand


(3) [Measuring effects of regulation: 16 pts]  Characterize each description of a study as using one of the following approaches:
· Cross-section market comparison approach.

· Counterfactual approach.

· Difference-in-differences approach.

· Event-study approach.

· Intertemporal (time-series) approach.

	Study
	Approach

	a. A study finds that fares for unregulated intrastate air fares were substantially less than regulated interstate air fares at the same point in time.  The study concludes that regulation raised air fares. 


	

	b. A study finds that trucking rates for most goods fell sharply from the period two years before deregulation to the period five years after deregulation.  The study concludes that deregulation lowered trucking rates.
	

	c. A study finds that after deregulation, Market A enjoyed a 20% decrease in price.  Meanwhile Market B, which was never regulated, enjoyed a 5% decrease in price.  The study concludes that deregulation caused a 15% decrease in price.
	

	d. A study finds that passage of the Interstate Commerce Act in 1887 caused the price of railroad stocks to rise.
  The study concludes that regulation was expected to raise rail prices and profits.

	


[end of quiz]



































































� Simat, Helliesen and Eichner, Inc., "The Intrastate Air Regulation Experience in Texas and California," in P.W. MacAvoy and John W. Snow, eds., Regulation of Passenger Fares and Competition among the Airlines, Washington DC: American Enterprise Institute for Public Policy Research, 1977.


� Robin A. Preger, "Using Stock Price Data to Measure the Effects of Regulation:  The Interstate Commerce Act and the Railroad Industry," RAND Journal of Economics 20 (Summer 1989): pp. 280-290.





